Quiz #4 Math 260 Name: /{ 57
r

4/25/20
Show all your work clearly. No Work, No Credit.

1 Please put your Full Name on the first page.
2. Scan your work as ONE pdf file and submit it thru Canvas.
3. Make sure scan the right direction and check if you submit every page.

1. Prove or disprove (disprove = counter examples) if the following is a subspace of a vector space V. (12pts)
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b) Let B= LI s bl o . Determine whether v = " espan(B) (4 pts)
S 11
Al « Ir _
B N T RER I PR
o) > = o - \ ~ = O - -
Coridh~ V= XV XV %, s .5 o o 5| o)
S o ~hpn O b 2 %
-1\ \ ~ | -2 1~
o v V| E |20 - V] B
- o O L | %0 o o —sg_
o O B |-«9 o o '~



3. Determine a basis B of the following subspace S of a vector space V, then expand that basis B to a basis of a
vector space V. (8 pts)
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4. Find a minimal set of vectors of B that spans the same vector space. (8 pts)
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3. Let B= {\71 ,g,vj,...,ﬁ} be a basis of a finite dimension vector space V. Prove that for every v €V there is

only one way to express v eV as a linear combination vectors of B. (4pts)
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6. Determine the rank(A), nullity of A, basis of Nullspace(A) and basis of Colspace(A). (10 pts)
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